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 Vector01 for No.1
  01: A(  1,  4)         , B(  9,  8)        , m = 6    , n = 5 
  02: A(  3, -4)         , B(  7,  9)        , m = 9    , n = 7 
  03: A(  6,  1,  7)     , B(  0,  7,  2)    , m = 8    , n = 6 
  04: A( -3,  5, -8)     , B( -9, -8,  9)    , m = 5    , n = 9 
  05: a = <  2, -4>      , b = < 10,  0>     , F = 2*b-a 
  06: a = <  0, 10>      , b = < -4,  4>     , F = 2*a+3*b 
  07: a = < -4,  9,  0>  , b = < -8, -3,  5> , F = 3*a+4*b 
  08: a = < 10, -1, -7>  , b = < -7,  9,  1> , F = 3*a-2*b 
  09: a = <  7, -6> , m = -4 , n = 5 
  10: a = <  5, 10>      , b = <  7, -8> 
  11: a = <  5, 10>      , b = <  7, -8> 
  12: a = < 10, 11,  7>  , b = < -7,  6, -8> 
  13: a = < 10, 11,  7>  , b = < -7,  6, -8>    
  14: a = <  9,  8> 
  15: a = < -7,  8> 
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 Vector01 for No.2
  01: A(  7,  2)         , B(  1,  6)        , m = 7    , n = 9 
  02: A(  7,  5)         , B( -3,  8)        , m = 9    , n = 7 
  03: A(  5,  9,  6)     , B(  9,  6, 10)    , m = 7    , n = 5 
  04: A(  0,  5, -1)     , B( -3, -8, -7)    , m = 5    , n = 9 
  05: a = <  0, -9>      , b = < -3, -5>     , F = 2*a+5*b 
  06: a = < -2, -5>      , b = <  4,  8>     , F = 3*a-2*b 
  07: a = <-10, -3, -8>  , b = <  3, -8,  0> , F = a+2*b 
  08: a = <  8, -6, -7>  , b = <  5,  1,  6> , F = 3*a-2*b 
  09: a = <  6, -5> , m = 4 , n = -6 
  10: a = <  5,  6>      , b = < 12,-10> 
  11: a = <  5,  6>      , b = < 12,-10> 
  12: a = <-10, -8,  7>  , b = <  6, -6,  5> 
  13: a = <-10, -8,  7>  , b = <  6, -6,  5>    
  14: a = <  7,  6> 
  15: a = < -6, -7> 
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 Vector01 for No.3
  01: A(  4,  3)         , B(  8, 10)        , m = 7    , n = 9 
  02: A( -3,  8)         , B(  9,  4)        , m = 6    , n = 9 
  03: A(  8, 10,  3)     , B(  3,  1,  8)    , m = 6    , n = 9 
  04: A( -5, -6,  1)     , B(  5,  4, -2)    , m = 5    , n = 8 
  05: a = <  0,  5>      , b = <  8, 10>     , F = a+2*b 
  06: a = <  6, 10>      , b = < -3,  7>     , F = 2*a-3*b 
  07: a = < -1, -8,  0>  , b = <  8, -1,-10> , F = 5*a-2*b 
  08: a = <  1,  8, -7>  , b = < -4, -3,-10> , F = a+3*b 
  09: a = < -8,  5> , m = 7 , n = -3 
  10: a = < -6,  8>      , b = < 11,  6> 
  11: a = < -6,  8>      , b = < 11,  6> 
  12: a = <  8,  6,-10>  , b = <  9, 10,  8> 
  13: a = <  8,  6,-10>  , b = <  9, 10,  8>    
  14: a = <  9,  7> 
  15: a = < -8, -7> 
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 Tutorial01 Answers for No.3
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ans.2 ( )AB < 4 , 7 >
ans.3 ( )AB 4 i 7 j

ans.4 ( )AB ( ),65 8.062
ans.5 ( )u 0.496 i 0.868 j
ans.6 ( )c 3.473 i 6.078 j
ans.7 ( )d  4.465 i 7.814 j
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ans.2 ( )AB < 12 , -4 >
ans.3 ( )AB 12 i 4 j

ans.4 ( )AB ( ),4 10 12.649
ans.5 ( )u 0.949 i 0.316 j
ans.6 ( )c 5.692 i 1.897 j
ans.7 ( )d  8.538 i 2.846 j
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ans.1 ( )AB < -5 , -9 , 5 >
ans.2 ( )AB   5 i 9 j 5 k

ans.3 ( )AB ( ),131 11.446
ans.4 ( )u   0.437 i 0.786 j 0.437 k
ans.5 ( )c   2.621 i 4.718 j 2.621 k
ans.6 ( )d  3.932 i 7.077 j 3.932 k
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ans.1 ( )AB < 10 , 10 , -3 >
ans.2 ( )AB  10 i 10 j 3 k
ans.3 ( )AB ( ),209 14.457

ans.4 ( )u  0.692 i 0.692 j 0.208 k
ans.5 ( )c  3.459 i 3.459 j 1.038 k
ans.6 ( )d   5.534 i 5.534 j 1.660 k
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ans.1 [ ]a [ ],89 9.434
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b < -56 , 35 >
b [ ],7 89 66.038
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c < 24 , -15 >
c [ ],3 89 28.302
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a b < 5 , 14 >
a [ ],10 10.000

b [ ],157 12.530
a b [ ],221 14.866
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a b < -17 , 2 >
a [ ],10 10.000

b [ ],157 12.530
a b [ ],293 17.117

   





















M
a
t
h
@

MUT

, ,Ans12



















a b < 17 , 16 , -2 >
a [ ],10 2 14.142
b [ ],7 5 15.652
a b [ ],3 61 23.431
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a b < -1 , -4 , -18 >
a [ ],10 2 14.142
b [ ],7 5 15.652
a b [ ],341 18.466
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ans.2 ( )a [ ],130 11.402
ans.3 ( ) 37.875 degrees

    Ans15








ans.2 ( )a [ ],113 10.630
ans.3 ( ) 221.186 degrees
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